S1

Decimal Addition | Word Problems

1) Jennifer had 10.5 ounces of butter. To follow a recipe, she needed 12.5 ounces
more. How many ounces of butter was needed in all?

2) Isaac has $19.55 in his wallet. His brother gave him $7.12 more. How much
money does Isaac have?

3) The weight of a crate of potatoes is 52.34 pounds. The weight of a crate of
onions is 29.12 pounds. What is the sum of the two weights?

4) Brandon downloaded two images for his presentation. One image was
45.22 KB, and the other was 87.15 KB. What was the combined file size of
the two images?

5) The fence surrounding John’s house measured 74.7 inches. If it was extended
by 25.3 inches, what is the new height of the fence?
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